The group G is isomorphic to the group labelled by [ 30, 3 ] in the Small Groups library.
Ordinary character table of G = D30:

la 2a 3a 15a 5a 150 15¢ 15d 5b
x1| 1 1 1 1 1 1 1 1 1
x2| 1 -1 1 1 1 1 1 1 1
X3 | 2 0 -1 -1 2 -1 -1 -1 2
xa| 2 0 2 E()?+ E(G)?  E(5)?2+ E(5)? E(5) + E(5)* E(5) + E(5)4 E(5)? + E(5)3 E(5) + E(5)4
xs| 2 0 2 E(5) 4+ E(5)* E(5) + E(5)* E(5)% + E(5)3 E(5) + E(5)3 E(5)+ E(5)* E(5)%+ E(5)3
x| 2 0 -1 E157"+E15® EG)+EG(G)?* EQ15)+ E(15)Y  E(15)*+ E(15)Y E(15)2+ E(15)!3 E(5)% + E(5)3
x| 2 0 -1 E15*+E15Y E(B)?+E()> E(15)7+ E(15)% E(15)2+ E(15)'3  E(15) + E(15)'4 E(5) + E(5)4
xs| 2 0 =1 EQ15)*+EQ15)"™ EG)+E(B)?* EQ15)*+E(15)Y  EQ5)+ E(15)" EQ15)"+ E(15)® E(5)*+ E(5)?
xXo| 2 0 —1 E(15)+E®15Y E(G)?+E(5)? E(15)2+ E(15)3 E(15)7+ E(15)% E(15)*+ E(15)1*  E(5) + E(5)*
Trivial source character table of G = D30 at p = 3:
Normalisers N; Ny Ny
p-subgroups of G up to conjugacy in G P, I
Representatives n; € N, la 2a 5a 5b la 2a 5a 5b
1-x14+0-x2+1-x3+0-x4a4+0-x5+0-x6+0-x7+0-xs+0-x9 | 3 1 3 3 0 0 0 0
O-x1+1-x24+1-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0:-x9 | 3 —1 3 3 0 0 0 0
0-x1+0-x2+0-x3+1-xa+0-x5+0-x6+1-x7+0-xs+1-x0| 6 0 3xE(B)?+3xE(5)? 3xEG)+3xEGB)* |0 0 0 0
0-Xx14+0-X240-x3+0-xa+1-xs4+1-X6+0-x7+1-xs+0-xo| 6 0 3xEG)+3«xE(5)* 3+«xEG2+3«xEG)3| 0 0 0 0
1-x14+0-x24+0-x34+0-xa+0-x54+0-x6+0-x7+0-xs+0-x9 | 1 1 1 1 1 1 1 1
O0-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x5+0-x9| 1 ~—1 1 1 1 -1 1 1
0-x1+0-x24+0-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-x9| 2 0 E(5) + E(5)* E(5)* + E(5)3 2 0 EGB)+EGB?* E(G)?2+E(5)?
0 x14+0-x2+0-x3+1-xa+0-X5+0-X6+0-x7+0-xs+0-x0 [ 2 0O E(5)* + E(5)° E(5)+ B(5)" 2 0 E()P’+E®G)? EG)+E(G)

P = Group([()]) = 1
P, = Group([(1,7,3)(2,10,5)(4, 13,8)(6, 16, 11)(9, 19, 14)(12, 22, 17)(15, 25, 20)(18, 27, 23)(21, 29, 26) (24, 30, 28)]) = C3

— Group({(

1 0)(4,24)(5,7)(6,21)(8, )(9 18)(11,29)(12, 15)(13, 28)(14, 27)(16, 26) (17, 25)(19, 23)(20, 22), (1,3, 7)(2, 5, 10
Na = Group([(1 1 (1, (

2)(3,10) 5,10)(4, 8,
7,3)(2,10,5)(4, 13, 8)(6, 16, 11)(9, 19, 14)(12, 22, 17)(15, 25, 20) (18, 27, 23)(21, 20, 26)(24, 30, 28), (1, 2)(3, 10)(4, 24) (5, 7)(6

)(4,8,13)(6,11,
5,7)(6,21)(8

16)( 9,14,19)(12, 17, 22)(15, 20, 25)(18, 23, 27)(21, 26, 29)(24, 28, 30), (1,4, 9, 15, 21)(2, 6, 12, 18, 24)(3, 8, 14, 20, 26) (5, 11, 17, 23, 28)(7, 13, 19, 25, 29)(10, 16, 22, 27, 30)]) = D30
)(8,30)(9 2,6,12 5,1

,18)(11,29)(12, 15)(13, 28)(14, 27)(16, 26) (17, 25)(19, 23)(20,22), (1, 4,9, 15,21)(2, 6, 12, 18, 24)(3, 8, 14, 20, 26)(5, 11, 17, 23, 28)(7, 13, 19, 25, 29)(10, 16, 22, 27, 30)]) = D30
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